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BOTANY
( General )

( Diversity of Seed Plants and their Systematics )

Full Marks : 40
Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions/Fill in the

blanks : 1x7=7

o 2ARE TS B/ 4 8% o7 30 ¢

{a) The strobilus of Cycadeoids bore both
the and

ZESAI T R K] e EECR o R
(b) The secondary wood of Pinus is

whereas in Cycas, it is

Pinusd (M9 F0 2F RS Cycasd

CFTS B 2'H |

fc) The hairy structures present around the
sori of Cycas is known as

Cycasd 3T BIRSFH 4 @AERARS
fRoTeet &= T |

20A/80 ( Turn Over )




(2)

(d) Name the aestivation found in the
family Papilionaceae.
o CPRRERe (iRl ATereaRarReE
fordl |

(e) Which system of classification is
regarded as the first scientific system of
classification of plants?

FRIR FEG T R AW wEEe
ofeq I el CPRT W ?

() What is rostellum? Where does it occur?
Rostellum & ? 20 99 (R1 37 ?

(g9 Name the division where all seed-

bearing plants were included by Adolf
Engler and Karl Prantl.

Wﬂﬂﬁwmmﬁﬂﬁw

A SRTe e 1 RS1h A ford |
2. Write very short notes on the following : 2x4=8
were franad R =S oY o o7 «
(a) Ovuliferous scale of Pinus
Pinusd o704 1=
(b) Flower of Gnetum
Gnetum3 79
(c) Floral diagram of Solanaceae
BACAD (oA =7 6
(d) Scope of taxonomy of angiosperm
qrAE @R Seme A e[
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(3)

3. Write short notes on/Answer any three of the
following : , 3x3=9

oo fRaars R e fefir 5y ol /Bea foan
(a) Distinguishing features of Bennettitales

Bennettitales 3 8 sR@TIZ

(p) Point out the differences between
mesophylls of Cycas and Pinus.
Cycas W¥ Pinusd @vGFaR  NLTPHR
eEy 91 |

c) Give the diagnostic characters of the
family Orchidaceae.

¥zl (sme Bl sfiesg o |
(d) Flower of Apiaceae
%) | A G B
(e} Economic importance of Euphorbiaceae

o IRl o 9 gg

4. Answer any two of the following questions :
8x2=16
o 2R R @Al Yo T ford
(a) Describe the internal structure of the

Pinus needle with labelled diagram and
point out its xerophytic characters. 6+2=8

ffs fBaeiz Pinus 1 fieeR SRR 4 39641
T4 I R TP SRTTR B T |
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(4)

(b) Describe with labelled sketches, the
development of male gametophyte of
Cycas.
fofde foq7 smwe Cycasd <femE Sfem
P eifpan 3efar <4 |

(c) Point out the differences among
artificial, natural and phylogenetic
system of classification. Mention the
merits and demerits of Engler and
Prantl system of classification.

Fla¥, Fole WF wWIe INIT afoq
TS 4F ALFPR TEY Fq1 QER AF
AR IR T Temfrer W

HPRAITOPTR Bear 341 |

(d} Mention the diagnostic features, floral
formula and floral diagram of any two of
the following families :

o) R @A Pl ol faressw sRa,
o= S W o~ o Bewy 31

(i) Magnoliaceae / (¥5 feica®
(i) Lamiaceae / Cif¥caf
(iti) Poaceae / Cm

L &
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